
SAP ABAP table T000K {Group}

T000K

MANDT [CLNT (3)]

GCURR [CUKY (5)]

PERIV [CHAR (2)]

RLDNR_RU [CHAR (2)]

RLDNR_LC [CHAR (2)]

RLDNR_GC [CHAR (2)]

RLDNR_PC [CHAR (2)]

ROLLUP_1 [CHAR (8)]

ROLLUP_2 [CHAR (8)]

ROLLUP_3 [CHAR (8)]

RLDNR_RU_1 [CHAR (2)]

RLDNR_RU_2 [CHAR (2)]

RLDNR_RU_3 [CHAR (2)]

T000

MANDT [CLNT (3)]

 T000K-MANDT = T000-MANDT 
0..N

0..N

T009

MANDT [CLNT (3)]

PERIV [CHAR (2)]

 T000K-PERIV = T009-PERIV 

0..N

1
T807H

MANDT [CLNT (3)]

ROLLUP [CHAR (8)]

 T000K-ROLLUP_1 = T807H-ROLLUP 

0..N

0..N
 T000K-ROLLUP_2 = T807H-ROLLUP 

0..N

0..N
 T000K-ROLLUP_3 = T807H-ROLLUP 0..N

0..N

T881

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

 T000K-RLDNR_GC = T881-RLDNR 

0..N

1  T000K-RLDNR_LC = T881-RLDNR 

0..N

1

 T000K-RLDNR_PC = T881-RLDNR 

0..N

1

 T000K-RLDNR_RU = T881-RLDNR 

0..N

{0,1}

 T000K-RLDNR_RU_1 = T881-RLDNR 0..N
1

 T000K-RLDNR_RU_2 = T881-RLDNR 

0..N

1

 T000K-RLDNR_RU_3 = T881-RLDNR 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 T000K-GCURR = TCURC-WAERS 

0..N

{0,1}


